
Druhá	latinská	konjugace
Koncovky
Přítomný	čas

Osoba Aktivum Pasivum
1.	sg. mon	-	e	-	ō mon	-	e	-	or
2.	sg. mon	-	ē	-	s mon	-	ē	-	ris
3.	sg. mon	-	e	-	t mon	-	ē	-	tur
1.	pl. mon	-	ē	-	mus mon	-	ē	-	mur
2.	pl. mon	-	ē	-	tis mon	-	ē	-	minī
3.	pl. mon	-	e	-	nt mon	-	e	-	ntur

Imperfektum

Osoba Aktivum Pasivum
1.	sg. mon	-	ē	-	ba	-	m mon	-	ē	-	ba	-	r
2.	sg. mon	-	ē	-	bā	-	s mon	-	ē	-	bā	-	ris
3.	sg. mon	-	ē	-	ba	-	t mon	-	ē	-	bā	-	tur
1.	pl. mon	-	ē	-	bā	-	mus mon	-	ē	-	bā	-	mur
2.	pl. mon	-	ē	-	bā	-	tis mon	-	ē	-	bā	-	minī
3.	pl. mon	-	ē	-	ba	-	nt mon	-	ē	-	ba	-	ntur

Futurum

Osoba Aktivum Pasivum
1.	sg. mon	-	ē	-	bō mon	-	ē	-	bo	-	r
2.	sg. mon	-	ē	-	bi	-	s mon	-	ē	-	be	-	ris
3.	sg. mon	-	ē	-	bi	-	t mon	-	ē	-	bi	-	tur
1.	pl. mon	-	ē	-	bi	-	mus mon	-	ē	-	bi	-	mur
2.	pl. mon	-	ē	-	bi	-	tis mon	-	ē	-	bi	-	minī
3.	pl. mon	-	ē	-	bu	-	nt mon	-	ē	-	bu	-	ntur

Imperativ

Osoba Imperativ
2.	sg. mon	-	ē!
2.	pl. mon	-	ē	-	te!

Související	články

První	latinská	konjugace

https://www.wikiskripta.eu/w/Prvn%C3%AD_latinsk%C3%A1_konjugace

